Cuestion 1

Correct Let SSTR = 6750 and SSE = 8000. Let ny = 20. We want to test
Mark 1.50 out of Hﬂ L = My = H3 = b4
1.50

¥ Flag question H; : At least one mean is different

The mean square due fo error (MSE) equals
aalect one

a. 2250

b. 1687.5

c. 400
d. 500w+

The correct answer is: 500
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Question 2

Correct Given are 3 observations for two variables, x and y.
Mark 1.50 out of T 1 9 (i1
.50

Yy 9 10 40
What is the value of the correlation coefficient?

t Flag question

=Salact one

a =017

b. 0.05

c. —0.05
» d. 017 v

The correct answer is: 0.17
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Question 3

Correct

Mark 1.50 out of
1.50

¥ Flag quaestion

In a completely randomized design involving four treatments, the following information is provided.

Treatment 1 Treatment 2 Treatment 3 Treatment 4
Sample Size 45 23 10 22
Sample Mean 32 38 42 48

The overall mean (the grand mean) for all treatments is

Select one:

a. 37.3
b. 37.9 v
c. 37.0
d. 40.0
e. 48.0
f. 37.8

The correct answer is: 37.9
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CQuestion 4

Correct Given are 3 observations for two variables, x and y.
Mark 1.50 out of T 9 6

1.50 y 9 10 40

Find SSE.

¥ Flag question

select one

a. 602.54 v
b. 18.13
c. 620.67

The correct answer is: 602.54
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Cluestion 5

Cormect

Mark 1.50 out of
1.50

T Flag question

Given are 3 observations for two variables, x and y.

- 1 9 6
Y 9 10 40

Find SSR.

Salect one:

a. 620.67
b. 602.54

c. 1813+

The correct answer is: 18.13
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Question E

Correct

Mark 1.50 oul of
1.50

¥ Flag question

An ANOWVA procedure is used for data obtained from five populations. Five samples, each comprised of 30
observations, were taken from the five populations. The numerator and denominator (respectively) degrees

of freedom for the critical value of F are

Select anea:

a. 4d4and 145+

b. 5and 20
c. 4and20
d. 4and95
e. 4and 120
f. 4and99

The correct answer is: 4 and 145
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Question T

Cofract Given are 3 observations for two variables, x and y.
Mark 1.50 out of T 1 0) 6
1.50

Yy 9 10 b5
What is the estimated regression equation?

¥ Flag question

sSelect one

. & § =T7.84+0.03z v

b. y = 15.69z + 0.74
c. y = 15.69+ 0.74z

d. § = 7.84z + 0.03

The correct answer is: y = 7.84 4 0.03z
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Question 8

Correct

Mark 1.50 out of
1.50

¥ Flag question

Given are 3 observations for two variables, @ and y.

T 1 9 6
iy 9 10 40
Find SST.

Select one:

* a. 620.67 v
b. 602.54
c. 18.13

The correct answer is: 620.67
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Question 9

Correct Let SSTR = 6750 and SSE = 8000. Let ny = 2(). We want to test
Mark 1.50 out of H“ Dy = g = i3
1.50

T Flag question

H, : At least one mean is different

The test statistic to test the null hypothesis equals

Select ane:
a 422
b. 0.84
c. 8.02+ Thisis not the correct answer. The correct answer was not included. The correct answer

is 7.17. The system will consider all answers as correct for grading purposes only.

0.22
4.5

The correct answer was not included. The correct answer is 7.17. The system will consider all answers as correct
for grading purposes only. .

The correct answers are; 0.22, 0.84, 4.22, 4.5, 8.02 o
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Question 10

Correct The critical F value with 8 numerator and 29 denominator degrees of freedom at significance 0.05 is
Mark 1.50 out of
1 50 salect one;

¥ Flag question

a 364
b. 3.20
c. 3.33
d. 1.89
» 8, 228v

The correct answer is: 2.28
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